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GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours . hiaiuzngn Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.

ALL questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized

one.
Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.
Any page or portion of the page left blank in the Question-cum-Answer Booklet must be

clearly struck off.
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1. 3 s w0 A FAEE S 9Ra § og T Fa R (o o Ho) # witkfer fry mu ¥ s A
g 2017 @ e Sfe Tho o F e Pifanel w o fogeli Hifmy
(3 150 =5 & €ifsm)

Enumerate the indirect taxes which have been subsumed in the Goods and Services
Tax (GST) in India. Also, comment on the revenue implications of the GST
introduced in India since July 2017. (Answer in 150 words) 10

2. T A9 W AT § WeHd ¢ 1% qhA e IR (o o dlo) N vt wafy qen Pt gmehify H
FUl AR Sdferaryr =St feufa # A7 o ol & wnd § wrwr dfv

(3 150 T=a1 7 Af¥e)

Do you agree with the view that steady GDP growth and low inflation have left the
Indian economy in good shape? Give reasons in support of your arguments.
(Answer in 150 words) 10

3. THFA PN TICH (3TMFe Tho THo) Ford diwr aeh HR Ieqre 1 Wufd 0 § wEEH 27
(IW 150 w=dt & Hifs)

How far is Integrated Farming System (IFS) helpful in sustaining agricultural
production? (Answer in 150 words) 10

4. o-wlefr &5 @ FR e § 3fE 0§ T To-fveE aiEe S ITE 9 aRwR @z

ifs) (IW 150 w=a1 | §ifvm)
Elaborate the impact of National Watershed Project in increasing agricultural
production from water-stressed areas. - (Answer in 150 words) 10

5. S g R FR-fagme & @51 § wuw: W e faddtan it g wo wmo @iy % drert @
9Ra e wER @ agen e (S| 150 Tt # difrw)

How was India benefitted from the contributions of Sir M. Visvesvaraya and
Dr. M. S. Swaminathan in the fields of water engineering and agricultural science
respectively? _ (Answer in 150 words) 10

6. WA i YT W I AR Hg TH H T AT & 3R TAR qRe wwT 9 98 9 TER

Y g ? (S| 150 v A i)
What is India’s plan to have its own space station and how will it benefit our space
programme? (Answer in 150 words) 10

7. A 9] G, 918 98 44 B A1 7Y B, TR GEIER0 F qh HOl 9 @Al § ® UF 2| AR 99l
R A R G @H % 9 F, TR e & gaen 37 e, e G |
g (IW 150 w=al # <ifsw)

Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our
environment. Analyze the impact of sand mining along the Indian coasts, citing
specific examples. (Answer in 150 words) 10
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8. 37Yel el ﬁnaﬁvﬁ%mm@ﬁiﬁqﬁmﬁmw%ﬁmﬂﬁnwmaﬁ%lmaﬂ
= W e 1 6 TR iR Re-fe aie ¥ iy SiE-Rem fea o gwa 20 IR F def §
wad % fafi| werl | == fift (IM 150 T=_t A <ifvr)

Vulnerability is an essential element for defining disaster impacts and its threat to

people. How and in what ways can vulnerability to disasters be characterized?
Discuss different types of vulnerability with reference to disasters.

(Answer in 150 words) 10

9. W] 3N FTM A SHE-T-7mf’ W IRl TN A AHAE I B wEEd ggan § 3R
TR (Ao o Txgo) FY Wi AW 1 %7 T E B | 9@ (FmEa) Wl A A TR
A ) TEHA1 U § qfR-3uR FRiwledt g R s @ e w1 whem A yf-se
FrRwd & IE B Fenfad w3 F urt f ==t i (IW 150 T=at § i)

The banning of ‘Jamaat-e-Islami’ in Jammu and Kashmir brought into focus the
role of over-ground workers (OGWSs) in assisting terrorist organizations. Examine
the role played by OGWs in assisting terrorist organizations in insurgency affected
areas. Discuss measures to neutralize influence of OGWs.

(Answer in 150 words) 10

10. UESREM YREASHI #0187 wE Hifg 5 wra § dere smudl ) frifa w0 § 98 8 yer e

B THhar R) (IR 150 =21 & dfvm)
What is CyberDome Project? Explain how it can be useful in controlling internet
crimes in India. (Answer in 150 words) 10

11. & % fom < & 7 ot g9fs A wrifa =1 smm wway araie ok grofiaa F 3wt |
TR TR ST RS9 Sy W femefi i) (S 250 wi=31 # difom)
It is argued that the strategy of inclusive growth is intended to meet £he objectives Of
inclusiveness and sustainability together. Comment on this statement.
(Answer in 250 words) 15

12. IW-IEH &ty F A, ave Fmio F g #, & 0 W6 Ra WER S qne @ e 2
W TR i) (W 250 =1 ¥ AHifv)

The public expehditure management is a challenge to the Government of India in
the context of budget making during the post-liberalization period. Clarify it.

(Answer in 250 words) - 15

13. ™ faam yore A fie Jure TR 3G WER A HH-PH W URTH FeF I3 Y &7

(IW 250 W= 7 diferw)
What are the reformative steps taken by the Government to make food grain
distribution system more effective? (Answer in 250 words) 15

14. TR YEERT & ) TR F anaE ¥ -G GERRCER ST 8 At Y wfRar e Ak

(IW 250 TI=1 & difv)
Elaborate the policy taken by the Government of India to meet the challenges of the
food processing sector. (Answer in 250 words) 15
SAMPAD A
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15. i it % g0 sgRivE % graRe 79 B 3% w0 9 I TR 8 T 180 T R7
(I 250 =1 | i)

tional knowledge of medicine from

How is the Government of India protecting tradi f
(Answer in 250 words) 15

patenting by pharmaceutical companies?

16. W%Wmﬁaﬁmm%méﬂﬁﬁrﬁrﬁﬁammmmm
(IW 250 7=t 7 Q)

How can biotechnology help to improve the living standards of farmers?
(Answer in 250 words) 15

17. wata A gafie TR O 9 9 T ) aheq S i AR | wge i R wen %
aﬁqﬁqﬁmﬁmw@ﬁaﬁ%ﬁa@z)aﬁﬁmmwwmaﬁmﬁmmm%l
(IW 250 T=l H <)

Define the concept of carrying capacity of an ecosystem as relevant to an
environment. Explain how understanding this concept is vital while planning for
sustainable development of a region. (Answer in 250 words) 15

18. frel i anvel wEvR R § ave ST Teen N Bl R EEEH! & AW #, T K f Fehe
IIEA AV A YR oTIyar sTefie § He] S| (IW 250 =2t 7 dR)

Disaster preparedness is the first step in any disaster management process. Explain
how hazard zonation mapping will help disaster mitigation in the case of landslides.
(Answer in 250 words) 15

19. YRd WHR A &« & A faiulaeg fraram (famw) sifufmm (3o wo dlo wo), 1967 3R
THo 330 To UFAN F FEA & R AHAR-UH FHAI Sl Toigg F fean 8| AFATHR G1A1
T fafufeg, e (Ramw) sfufem &1 fliy @ fawr iR st ® ==t w@ a99 9d9H
g whaw & g #, wfad @ fawev A (I 250 W=l A difom)
Indian Government has recently strengthened the anti-terrorism laws by amending
the Unlawful Activities (Prevention) Act (UAPA), 1967 and the NIA Act. Analyze the
changes in the context of prevailing security environment while discussing the

scope and reasons for opposing the UAPA by human rights organizations.
(Answer in 250 words) 15

20. IN-TH WA § Iqerrdl 1 W ¥ AROR SEred, DGR % ' et geen gkt
¥ ¥ T 2| WRA-IHR G F AER TEGHE A WA 1 arelt f[i| gt = e i
1y @ T w1 wiy w0 F we w T+ R (W 250 W=t § Afvm)
Cross-border movement of insurgents is only one of the several security challenges
facing the policing of the border in North-East India. Examine the various
challenges currently emanating across the India-Myanmar border. Also, discuss the
steps to counter the challenges. (Answer in 250 words) 15
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